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Question Number : 1 Question Id : 4548934538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following receive stimulation and sensations from parts within

the body like, muscles, joints and semicircular canal etc. ?

Fefaftaa 5 o ®F I & SN 9rT S AT, oSl ud adgerer At

geile § Se9H U Haedr] B & 8§ 7

Options :
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Exteroceptors

Interoceptors
o T HTED

Propioceptors
3 HATSN HATES

Motor neurons
4 I Y

Question Number : 2 Question Id : 4548934539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not included within the Central Nervous Svstem ?
Frefafea 5 @ ®F s afFe a5 & g7 T8 8 7
Options :

Spinal cord

Cranial nerves

BTl AT

Medulla
3, g

Thalanws
4 AT

Question Number : 3 Question Id : 4548934540 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the resting state, which types of ions are located inside and outside of the
nerve fiber ?
frerawen 5 Wy 99 @ ey ud a6y uew & argen e g # 7
Options :
Positive ions located both inside and outside
| IR T arEy AR LS RS G P

Negative ions outside, positive ions inside
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Negative ions located both mnside and outside

Z R e tz:] arey ST 3N SRS 399l

Negative ions inside, positive ions outside
4 TFEUTTHE ATAIT J76, TATHE T qTE

Question Number : 4 Question Id : 4548934541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The group factor theory of intelligence was proposed by .......... ;
afg & wiE aRE MfEra @ ufamEa & BT O T e
Options :

Brown
1 A3+

Thormdike
5 S TG 5 7

Spearman

Thurstone
Ch R ok

Question Number : 5 Question Id : 4548934542 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not helpful in improving memory ?
55 1 2 O s < M | e O e 3 S A P 1

Options :
Using imagery while learning
{ S o B T e R 1 ) B 7 e 2

Using massed method of learning

4 afferry 9 Hafora fAfer & Sy

Using rhythm while learning
3 AETH T A T B FIA
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Learning at relatively slower speed

4 STETHT G AR W ST w

Question Number : 6 Question Id : 4548934543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Zeigamik Effect, what is the relationship between RI (recall of
interrupted tasks) and RC (recall of completed tasks) ?

ATEE wHT @ SR Jno ange (fAfsra fm e o wemET) ud a o
Hio (qor 571 7171 B B UEAREE) H R qhas 87

Options :

RC is greater than RI

Aol T A ARoAZe | Af&EH BPm

RC and RI are equal
ARoHIo U IRo3TEe HT HIF axrEay BT

Rl is higher than RC
5 3Ro3Mgo BT AM IRoYio T 3(fEd T

RC and RI are unrelated

Question Number : 7 Question Id : 4548934544 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

‘Bilateral transfer of training’ is an example of which of the following :
femmed aftrm Pe=faiea 4 o frae samo e 7
Options :
Ability transter
1 PR SR

Cross education

o TonE s

Warm up effect

wpfe WA

Specific transfer

4 fafare s
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Question Number : 8 Question Id : 4548934545 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In temporal conditioning, what is the sequence of presentation of conditioned
(CS5) and unconditioned (UCS) stimuli ?
s A9 § Jqafad Sead (3Fe So) d EEatad (e So) SEUE @
Options :

CS presented tirst and UCS afterwards
y o Fo & U gBe ud e o 491 H

UCS and C5 prezented together
5 3T B0 Td 3o Fo YT W

UCS at regular intervals, C5 not presented
5 3T o Uw Pf¥ET PreEe av gd oo o aruiterd

UCS presented first and CS afterwards
4 3T So HT U 9FA U9 3o Jo A% H

Question Number : 9 Question Id : 4548934546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is nof included within the types of instrumental
learning as proposed by Skinner ?
Fefafaa 4 9 $F e g uwanfaa AR seaga & aer 5 af=Ea Jg8)
g7
Options :

Reward training

X IR WTETvT

Punishment training
o TUE HiFE

Avoidance training

. oYET YigEroT

Skall training

4TF'T_I‘TF‘*IET“I

Question Number : 10 Question Id : 4548934547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question

The 'Attenuation model' of selective attention was proposed by whom of the
tollowing ?

AIATHS SaET & EvE arey @ Frefaiea |5 9 e awefae fea e 7
Options :

Treisman

Deutsch & Deutsch
> S Td Y

Broadbent
alsa

Cave & Wolfe
4 e T:!T;i qo'b

Question Number : 11 Question Id : 4548934548 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not an ‘objective determinant’ of attention ?
Ffafiaa 5 @ oM s/ @ awqe Fars J8 & 7
Options :

Size

1 TP

Repetition

-

> CIRSCIEG

Social suggestion
5 WIS YT

Contrast
4 o s

Question Number : 12 Question Id : 4548934549 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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‘When despite the individual's desire to keep concentrating on desired area of
focus, his/her attention is diverted, resulting in blocking or diminishing of the
reception of desired information, it refers to which of the following processes ?
wa e a9 weger & onis &9 U fae uaTy @vd YEA @ 3@ © aidas
SHEH e B o forad gRvmeEsy anfis wEenet @ wifta § o s a@n
#orar & R A gadr areoy FeEfafaa F 9 e e e e v
Options :

Fluctuation of attention
1 e e

Distraction of attention

o ST fagv

Shifting of attention

5 ST EIEEnG

Division of attention

4 AT TS

Question Number : 13 Question Id : 4548934550 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Which of the tollowing is not a characteristics of figure' ?
fFrafafaa 9 @ ®F-w wmepfa & o FE@ e v
Options :
Smaller in zize
1 SR H ST

Clear outlines
o TD ARG

Higher in object character
5 T U H ST

Appears spatially distant
4 Tom 3 g gt &

Question Number : 14 Question Id : 4548934551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In order to perceive apparent movement, what chould be the nunimum
temporal gap between the prezentation of two light stimuli ?

ATATHY WA @ WeRavl B &1 Wb SRgdl & ard S[EaH dentd s fhaen @
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Options :
100 nmili second
, 100 el waee

90 mili zecond
o> 90 fAelr w@ve

75 mili second
3 75 fiieh "avs

60 mili second
4 o0 A& \Aars

Question Number : 15 Question Id : 4548934552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1

Question Label : Multiple Choice Question

Who proposed the 'Bottom-up process' theory of perception ?
YeErvT & SE il vehd fheTd @1 s wenfaa e e 7
Options :

Max Wertheimer

RO A G

Herman Von Helmholtz
o BV 911 EeHEIC

Tames Gibzon

R e

Richard Gregory
4 Tare s

Question Number : 16 Question Id : 4548934553 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The 'instinct theorv' of motivation was initially proposed by whom ?

AP & ‘Hemgl Rrgta ® way uey ¥ (@ avenfaa e an ¢

Options :
Sigmund Freud

William James
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William McDougall

Abraham Maslow
4 JASTEH HIYTT

Question Number : 17 Question Id : 4548934554 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a characteristic feature of a person with high
‘power motive ?
Aefafiaa & 9 ®E-a1 S wifda afyyeer 9o @faaar & fafEee e 98 8 7
Options :

High egoism
| O AEH AT

Low arousal level

Decire for prestige
5 WISt @1 ST

High level of aggression
4 I W RS

Question Number : 18 Question Id : 4548934555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is nof true about emotions ?
@ A W et | o @ v 8@ e 7
Options :

Repression leads to reduction in intensity
1 EEA W A { o E

Personal conscious feeling

o FTT =TT SR

Ascociated with feeling disturbed and stressed
ST s MG B e s O o o e B L =

Also contributed by motivation
4 UROTT @51 M1 ATTETE BT
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Question Number : 19 Question Id : 4548934556 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The development of 'Lie Detector' was based on which of the following
physiological change associated with emotional state ?

SO Tmed B AN a1 e Hamerd aEven W wee frefaiag § o9 fee
afew aftads gv aenfya or ?
Options :
Changes in glandular secretion
1 W e e

Chemical changes in blood
o AT H ErEfE qiadE

Changes in digestive functions
3 aree ufden | afEdE

Changes in galvanic ckin responses

4 TR T sEfERl H g

Question Number : 20 Question Id : 4548934557 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

'A process associated with finding solution to a problem which can not be
solved by mere reproduction of earlier solution and during which the
individual on the basis of his/her past experiences identities a sequential set of
arguments, evaluates these, and decides upon a solution’ refers to which of the
tollowing ?
AR W TdR B U SAHES T9emd ® [fEd $Y S 9@ geEnad B ud ud
wEEE @ fawa { Ao @ gwa arenl fAefafaa 5 9 e fBeaa g
Options :

Autistic thinking
1 STHRE

Objective thinking
o A A

Creative thinking
5 ST

Conceptual thinking

4?11=;tﬁnf-=rtﬁi%ﬁm
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Question Number : 21 Question Id : 4548934558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

At which stage of creative thinking 'the irrelevant ideas get discarded and all
the pertinent ideas produced during the process of search get linked to a
specific desired goal ?

oA e @1 [y araven | srive frEw gerdida 81 o § v W 9w
SO BU W W faEn spie @en o weag 81 od § 7

Options :
Preparation

1.
Incubation
GrEEER

2.

IHumination

5 IR

Verification

4

Question Number : 22 Question Id : 4548934559 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to which theorv, problem solving is conceptualized ‘as an effort to
reorganize the situation and displav of a combination of a goal directed rather
than disconnected trial and error responses in order to find the solution’ ?

fhe @™ & S9N WHEn WHE 6 REURET &1 9HEE urd w8
‘;Fl”T’lf“xﬂ HY B AT UG ST 9Ar ud FRA & e o srida
& UEIH ® &9 H wufera fsar w7

Options :

Behaviouristic theorv

Information processing theorv
o SLET WA RigTa

Gestalt theory

Psvchoanalytical theory
4 L2 511 5 RIS LA 1 O RS A T
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Question Number : 23 Question Id : 4548934560 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a relevant conzideration for selecting a research
problem ?
F=fafaa 5 9 ®F ma 99en & 999 29 U $a faane 8 8 7

Options :
Be a pnsitit'e statement
) U g9cHqHE: 4 811

Unambiguity in statement
T H S faET

Related to an established theory
o YT g W e

Availability of suitable tests and tools
o IT TGV T SUPIN B Sy

Question Number : 24 Question Id : 4548934561 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following would nof be a very appropriate source for searching a
research problem ?
Frfafiad 9 9 SE-u7 {6 9 99 @ @@d B SUgad Wi F8) e n
Options :

Expert s suggestions
s faemst @ s
General literature
o WA HiRw

Reszearch journals
3 ¥ qi= T

PI'E'ViCH.lE I'ESEEH.'E].'I T.M'Dl'k
4 gd #H i T e e

Question Number : 25 Question Id : 4548934562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Which of the following is not true about a hvpothesis ?
Fefafaa 5 9 ®e-w & afteersn & fav v 787 ¢ 7
Options :
Provides a starting point for research
Helpful in making predictions
- 94 T A HEaw Eedl R

Provides direction to research
3 T Bl fEom usHe o 8

Unrelated to test & tool development
4 1= 54 6500 B\ Bt 5 e 8 e 5 1 s S s L ot

Question Number : 26 Question Id : 4548934563 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
A hypothesis which states that 'a specific relationship holds good for at least
one case, isknownas ............ hypothesis.
P1E UNFETT o ag Afaw s 2 % e @AY g e | e ue 5 @
I & &/ & 99 .. INEHEAT BT AIE AT ST 2 |
Options :

Existential

1 IR e G I

Alternative

EEa

Substantial

e

[e K4 p)

Limited
qiaa

Question Number : 27 Question Id : 4548934564 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Which of the following is not one of the functions of a ‘good’ research design ?
Frfafad § 9 ®E-ur s Sow o gfieed & udr | W Ud T8 2 7
Options :

Help in making an adequate research plan

collegedunia:
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Help in controlling extraneous variables
5 302 1 05 = ) B P o e e G P 3 6 e s 1

Help in minimizing systematic variance

Help in arriving at conclusive findings

o (e [ Frad aw gge= | wers @

Question Number : 28 Question Id : 4548934565 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following method is most appropriate for controlling the eftect of
extraneous variables like fatigue, habituation, practice and anticipation ?

I, ST, IPATH U YA SIY AWM 991 & w9 & Faser &g FHefaiaa |
A Haw ST AR eE- A o g 7
Options :
Screening method
1, ora faf

Method of counter-balancing

> gferder @

Method of constancy of condition

5 fore wfifRerfoi o fafa

Method of elimination
4 e

Question Number : 29 Question Id : 4548934566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Problems related with sensitization, effect of maturation, and instrument decay,
are generally associated with whach of the following research designs ?
HASTHIY], GRTFEr B UHTE, Ud SUEIU B ST S EeEne qrEa: Aefaiaa | 9
fhe afiwey 9§ wag 8 7

Options :

Factorial design

1 HEEE FiyEed

Two random group design

5 fFarg=digpa wiqE e
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Matched group design
5 AT WE Sfrde

Pretest-post test design
A A TREV-uTE e aifime

Question Number : 30 Question Id : 4548934567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which is the most appropriate statistical technique for ascertaining if
intergroup ditferences exist between the subgroups in a design with two
independent variables with each variable having two levels ?

fd aifvaen, fore 1 was WX 8 3N Ueld AN @ a1 W Bl Sud SUwHEl @
aFdE fafir=rar siaa eq FreEfafaa 5 9 fEs0 aifEsn aediie ged s
BN ¢

Options :
Factorial analysis of variance

1 Hedi ] g fqueo

Chi-square test

5 HTE-T e

One-way analysis of variance

3 Udh-AT IR0 fagEyor

t-test

y CGAPRS Rt LU

Question Number : 31 Question Id : 4548934568 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If the Mean and Standard Deviation of a distribution are 60 and 3 respectively
then assuming that it is a Normal Distribution what would be the likelv range
of the scores in the distribution ?
G A s 5 e G T 3 e S 1 e e O e I S | s |6 AN 2
T UE gar=T fAaen 8 99 A & urarel & 9wire faeaw e gen Y
Options :

14 to 70
1 4170
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30to 54
309 34

44 to 84
44 71 34

Question Number : 32 Question Id : 4548934569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If in a distribution a larger number of scores are concentrated towards the side
of higher score, then what out of the following would the distribution be called

as ?

e el fAeaey & sfeeay yrars [Goeer & S= urars] & 9W Sdisad 8 dr U
faawor @1 F=feiaa | 9 a7 &8 e 7

Options :
Positively skewed

1':T:11T~Htﬁwﬂfaﬂﬂ

Negatively skewed
FOTHS w9 9 e

Normallv distributed

Platvkurtic
4 fafe T

Question Number : 33 Question Id : 4548934570 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In a Normal Probability Distribution, what percentage of cases will fall betvween
-16 and + 26, where ¢ denotes Standard Deviation ?

et v faay /5 98T o AFd A= & [few dvar 8 -1o g + 206 & 4=
[ 7 1 B 5 Y 4 5 A i £ W= e

Options :

3 31.85%

> 47.72%

2 30
3 34 13%
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Question Number : 34 Question Id : 4548934571 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The summation of the deviations of each score of the distribution from which of

the following would always be equal to zero ?

Fe=faiaa 5 9 Fuw fav @ ueas uraes & [A=e &0 arr #9490 971 & ave

B !

Options :
Mode

Aszumed Mean
G 5 e 5 M L L

Median
HrfeaepT

True Mean
AE HETHA

Question Number : 35 Question Id : 4548934572 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following iz not true for the Median ?

wifearept & fawa | F=fafRea 5w g e 9878 7
Options :

Based on all values in distribution
G A s e 1 T e 1 B |

50% cases lie above it
50% U sHS HUY e B #

Only suitable for data on ordinal level
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Can be computed through Ogive

4 AR W FET T

Question Number : 36 Question Id : 4548934573 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is the correct formula for computation of Standard
Deviation if sample is small and scores are ungrouped with X, M and ‘N’
denoting raw score, mean and total number of cases respectively ?

afE X, 'M' vd N’ HJa urdiel, 9eEE Ud U B fol G@ B FEE [Afaw e
Fre=faritaa 4 | ®F- 68 43 2 7

Options :

T (x-M)
;I\T

. V' ~N-a1
I3 (X-N)*
4 \ M

Question Number : 37 Question Id : 4548934574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

Computation of which of the following takes into consideration only the nuddle
50% of cases of the distribution ?
Frefeafan 5 @ frad woen | oy & daa 3= & 50% &9s & faaw 5§ e
Options :

Average Deviation
g it fame=

Range

Lo L

2.

collegedunia:

India’s largest Student Review Platform



Standard Deviation
UIEE B!

Quartile Deviation
agud faaa

Question Number : 38 Question Id : 4548934575 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

It correlation coetficient betiween variable X' and variable 'Y is computed and
the obtained wvalue of r, = 0.72, then drawing which of the following

conclusion would nof be right ?
afg =R X wd g 'Y @ @\ "Ewws AE O TUET d SN 8 U4 e /e
r., =072 8 @ Frafafaa 5 5 - [ e stEa 98 o 7

Options :
If X increases Y will also increase

1 afg Xagar & arY s agm

X and Y are positively correlated
5 X U Y § @ g d e ©

X is the causeof Y

3 Y &1 T X B

A high association exists betwveen X and Y
4 Xug Y& €9 SeEdic § 9g59] 8

Question Number : 39 Question Id : 4548934576 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When one of the two variables to be correlated is continuous whereas the other
is dichotomous, then computation of which of the tollowing coefficient of
correlation is considered to be most appropriate ?
wewEfad 5 @ a9 & 9w § 9 afe e gad 8 wafe g a2 o
FAfaiga 9 9 e gewEs &1 TUET av Jad SYad "9 e # 7
Options :

Pearson s correlation
1 ORI e

Point-biserial correlation
o fag-fEufirs v
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Phi-coefticient
3 TSIV
Spearman's correlation
4 (FaR pd s £ s P 1 0

Question Number : 40 Question Id : 4548934577 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following refers to ‘species-specific changes ?
FAmfafiaa 7 9 e arcgd worda e aRgdr | 2 7
Options :

Development
1 T

Growth
5 |L_<;| iLf @1

Maturation
5 O
Evolution

ELEE
4.

Question Number : 41 Question Id : 4548934578 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the tollowing is nof a true statement about human development ?
5 B 1 1 T e s ) 1 s S O L s B e -/

Options :

Same for all individuals

a1 =fae & e ve S

Follows a predictable pattern
o U AT WA BT ST Vel E

Each phase has hazards
5 WEIE Sawdl H EH B e

Aided by stimulation

4 SR9H 9 HETIGT 9T
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Question Number : 42 Question Id : 4548934579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is considered the most powerful research design for
conducting life-span developmental research ?
WU SEEEiE Aerares g Bq FrEfaiiaa 4 ou e wew wifademen afvaey
15 LI | |
Options :
Factorial design
1 HEwE A
Cohort sequential design
HHAE WHTT W aifee

Time series designs
T AU affEey

Twin study designs
5 e IR s | B s

Question Number : 43 Question Id : 4548934580 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

In which of the following designs researchers study two or more groups of
participants belonging to different age groups at the same point of time, in
context to some specific variables ?
fFrefafiga 5 @ fa sfawes & seder (= &g @0 & &1 W &1 W oaifas
afyart el B FennE N A w1 & e d wea @ e 8 fasg o a
g7
Options :

Cross sectional

i ofafaene®

Longitudinal
o HPIAD
Matched group

5 A THE
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Case study
4 T I

Question Number : 44 Question Id : 4548934581 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following theories focuses on ‘transmission of culture from one
generation to the next and views cognitive growth of children as a socially
mediated activity in which children gradually acquire new ways of thinking
and behaving through cooperative dialogues with more knowledgeable
members of the society” ?

Frefaftza 4§ ®FA-w fem wwila @ e 6 9 @ fd as 89 9
B0 TR Hatad 8 UF ged & WSITAoad [ @1 UE araifie e aren
ffm @& w0 # AFdG & 9H g=0 @9 vd 2@er &3 & 99 a9d 9Er @

STHEN [N & W WEATY WArs & gR1 Sonrey aford awa # 7
Options :

Piaget s cognitive developmental theory

Vvgotsky s sociocultural theory
| B L e T A B G G I R A G G o S B L

Bandura's social learning theory

Freud s psvchoanalvtical theory
4 WIS 1 AT e

Question Number : 45 Question Id : 4548934582 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Intake of which of the following by the mother is likely to have least harmiful
ettect on the fetus inside her vwwomb ?
I -1 | R G B R i R Fl B E | R ) R B O o < W s B
BT d B ¢
Options :

Alcchol

1 TN
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Tobacco
5 [y ka2 | Cfg;

Caffeine

5 P e

Cocaine

4 GREE

Question Number : 46 Question Id : 4548934583 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Approximately by which age a normal infant is generally able to stand alone ?

LAG F3G 1 B W R ) B 11 | o R e M 1 R 6 e 2 e B e s G B 1 | O

Options :
14 months

1 14 A1

0 months

3 0 HEH

0 months

3Iﬂ‘:|_.F?F[

11 months
Sl HE T

Question Number : 47 Question Id : 4548934584 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following condition is caused by intake of unbalanced diet which
15 verv low in protein and usually strikes after weaning, betiween the age of one
to three vears ?

g 1 e o 1 s R T o O o Y e e s G O O £ 1 £ s e
HIE 48d ¥ Bl 8 U9 9O Ud 9 A a9 | AT @1 g5 Uerd S & 9vEi
garfad vt g 7

Options :

Marasmus

1 HITHY
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Kywashiorkor

s

Rickets
Raes

Goiter
LI B [

Question Number : 48 Question Id : 4548934585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is the correct matching for the stages of cognitive
development proposed by Piaget given in Column-X and the age ranges given
in Column-Y ?

WX A & g o g wenfa dseern e @ qaeensi g S -y
G e 1 £ O e R | R T B £ 6 U 6 O R e B e 0

Column - X Column - Y
W - X W - Y
(a) Preoperational (i) Birth—2vrs
qd AT o W — 2 99
(b) Formal operational (1) 2vyrs—7 yrIs
Amenie Afhare® 290 — 74y
(c) Sensorimotor (1) 7yrs— 11 yrs
HaaT-ueiy 7aq — 1149
(d) Concrete operational (iv) 1l vrs and older
qd iR 1199 & 399 sifad @y
Options :
1 (@)~ (), (b) - (i), (¢) = (v), (d) — (3)

5 (a) — (i), (b) — (iid), (c) — (1v), (d) — (i1)

- (a) — (iv), (b) — (ii), (c) — (ii1), (d) — (3)

4 @~ (i1), (b) — (iv), (c) — (i), (d) — (iii)

Question Number : 49 Question Id : 4548934586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Morality which involves "mwutual benefit, reciprocity, and acceptance of
utilitarian rules that make life better for everyvone” refers to which stage of moral
development proposed by Kohlberg ?
HiEdal g grfad Afe fBera B e sEwen @ aera ag Afaea @
Carradt @, aeREar g 99 S FEE @1 Wil & dad fau e ga
i I
Options :

Social order

IS Jarave]

Social contract
Contormity
5 T

Universalitv

SIEE G|

Question Number : 50 Question Id : 4548934587 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Whom of the following proposed the concepts of surtace and source traits and
made use of factor analysis in order to develop a comprehensive measure for
assessment of normal personality ?
Frefafiaa o o e wad ga ae eienon & 9eaeas g3 @ s e
Options :

Carl Jung

Gordon W. Allport
> Iiiu{ = | -.E,{(}'-?Jﬁ -E'ﬂir:'IEi ;._H'.
Ravmond B. Cattell
. TUE dlo HeT
Hans J. Evsenck

i 2+ Slo JATgu=h

-

el
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Question Number : 51 Question Id : 4548934588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multip]e Choice Question
The Rorschach Ink Blot Test of personalitv assessment contains how many
chromatic and achromatic cards ?
23 | s e BT 17 S ) e = 2 e e O R e B 4 5 s e O 0 M | e i Ml
Options :

5 chromatic and 3 achromatic

5 A U 5 e

3 chromatic and 7 achromatic
3 WA Ug 7 wrfaet

0 chromatic and 4 achromatic

6 TRIERT U4 4 TIAEH

4 chromatic and 6 achromatic
4 TEEE U4 6 TfaE

Question Number : 52 Question Id : 4548934589 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

According to Evsenck's personality theorv, a person who tends to be quiet,
introspective, reserved, reflective, distrustful of impulsive decisions and who
prefers a well ordered life "will be considered to be of which of the following
tvpes ?

argord @ =ifdced ffga & agan U o=fae o end, enerfavent) e,
I Freifefaa 4 9 59 gdR &1 | s 7

Options :

Extrovert

Introvert

5 FTE
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Psvchotic

4 FHEEAT

Question Number : 53 Question Id : 4548934590 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is not an essential part of the process of counselling ?
Fraferfaa 4 9 SF-07 I B UHH BT AEIIE 96T F8@ 8 ¢
Options :
Non-evaluative acceptance of client's feelings
| RTE @ S @AY G e
Giving advice to solve cleint's problem
o TR W T WA & WAls <

Voluntary participation of client

5 W @ gRe® wEefin

Two-way communication between client and counsellor
4 T Ud WREIETAr & ard IRTfE we

Question Number : 54 Question Id : 4548934591 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

"The ability of a councellor to understand the feelings of another person from
that person's perspective' refers to whach of the following ?
e w i | o g aer ® 7
Options :
Transparency
TR

Svmpathy

e

Authenticity
E B

Empathyv
4 TR
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Question Number : 55 Question Id : 4548934592 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following will nof be considered an appropriate outcome for the
counselee atter going through the process of counselling ?
R L 1 2 O ) O e A B e A i e O L L e | e e
Options :

Development of effective behaviour

1 O9TaT 218 P faery

Positive outlook tovwards life
o TEE T UG G gitem

Depending on counsellor for solving problems

3wmwm?§mmfmﬁrwﬁmm

Becoming more responsible
4 dfaE fomrEr & s

Question Number : 56 Question Id : 4548934593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is not an appropriate alternative of recruitment for an
organization which is in need of additional emplovees due to enhancement in
workload ?

FEANR A gig & B A wed | sifafea e @5 sravadar 8 s6d fEn
Frerfafaa 5 o 9dl @ RAeca & $9 9 @20 Sogaa J87 2 7

Options :
Overtime

Outsourcing

Temporary emplovment

5 areerrs Frgfae

Promotion

4 & T=d
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Question Number : 57 Question Id : 4548934594 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In which tvpe of interview, 'a scenario related to the prospective job that the
interviewee may be required to handle without sufficient notice or time to
prepare for it, is presented to them in order to assess their analytical and
problem-solving skills in face of job related problems’ ?
fFe U o HENERTY H WETehRarl & [Avelyome s vd YHEE-SHETE dieTa &
A Y B SU®G HHE AT AT | s Uh v aftgen uega fe s @
o swa famn gavgeen @ G @ oo g Wi @ fae s wafa e 9
SHIE R G| B R
Options :

Structured Interview

) e fHe Hlemed

Unstructured Interview
< B I 2 [ MG 11531 [x 1 F

Stress Interviews
3 4Tg HIETARTY

Situational Interview
4 qReEeHE WIBTRY

Question Number : 58 Question Id : 4548934595 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is nof an application of job analysis ?
e 5 9 @ wrl-fAvemo &1 ue sEuET J8 8 7
Options :
Identification of vacancies
y Raa v &1 f@afea s

Preparation of job description

Preparation of job specifications
B fafimenaEr @ aae weE

Designing of training programs
aqf¥reror wrehd afsfoad wen
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Question Number : 59 Question Id : 4548934596 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In which method of performance appraisal, 'an emplovee is appraised by
his /her subordinates, colleagues, and supervisor(s), as well as by the emplovee
himself /herself and this gathered information is then incorporated into that
person's performance review' ?

Fro-FAmres geriaa @ fhw | 1 e ema o sus sdEven, gt o
Pl o 50 =fdq & sre-femea wee § afsEfaa & faa s e 7

Options :
Peer Rating

y HHEHE ST AT

Graphic Rating Scale

5 Arerd v JroE

Self-rating
-2

3600° Feedback
360° ufayfte

Question Number : 60 Question Id : 4548934597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is not necessarily an objective of performance
appraisal ?

Frefaftaa & @ ®F-w sr-Aees gersa & afEn s 9 ve seen J8 8 7
Options :

Improving supervisor emplovee communication

siferdierd-FHaany & dr" TR B G B

To aid downsizing decisions
B2 12 e e e s e e e R G B E U R

Facilitate promotion decisions

Encouraging performance improvement
HE-FAEa § S=fa 1 weied w5
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Question Number : 61 Question Id : 4548934598 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which evaluation error would a manager be making, if he/she baczes the
performance appraisal of an emplovee completelr on the perceived negative
qualities of the emplovee' ?
Afe @i wagd G FHard & F-FEE & e gUisY 9 SY dHaR $
e EErd FAEOTTHS U ® STER UY dNd /Il 8 A 98 [F UeN @ qed
e T & BN/E BN 7
Options :

Horn effect
1 B W

otereotvping

5 Siega i

Inadequate information error
5 STATE AT Ffe

Attribution error
4 TOTRIT 3fe

Question Number : 62 Question Id : 4548934599 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

The first scientitic approach to accident causation was presented by H. W.

Heinrich through his ... ... theory
gHe s & B B ufa gauE asnfhe gfesm g .. RIETE @ B8R UEo

Swqo BN @ g™ W fhar T oar |

Options :
Human Factory Theorv

i Hred med Riaid

Domino Theorv
o> ST g

Human Error Theory
g Ffe e

Incident Causation Theory
gl #Eia Hard

Question Number : 63 Question Id : 4548934600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes .
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is a 'direct’ rather than an ‘indirect’ cost of accidents ?
Frefaia 5 9 SE-31 gHeRl @ US G¥E & For W o 8 7
Options :

Emplovee cost during his absence due to accident

g AT & BRI FTIReTT YET & HRY BHAN] 9 A

Cost of lost time due to other employvee's assisting the injured

o TN FHARAT GNT FHCATING A B 7Ew § q4is g A G9a B A
Cost of supervisor's time spent in investigation of accident

. FHEAT & AEBIDTT | SHAES & A qre THA Bl AT

Cost incurred in training the replacement worker

: e FHar ® ufPEm § o ard T

Question Number : 64 Question Id : 4548934601 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Which of the following measures refers to 'subjecting each area of a company's
activity to systematic critical examination with the object of minimizing loss
due to accidents ?
GHEAT B B BF At AHHA B FATH T & Saetd H & & dridard
G i 6 T e T | 1) e Y N i o e P G s S 1 A e 2 O | 5 | e O 5
PHIAEE 0 8 7
Options :

Safety planning

HRET AT

Safety inspection

Y& A

Safety survey

YT e,

Safety audit

i R | e R

Question Number : 65 Question Id : 4548934602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question

Which of the following is #not an emotional motive for buving behaviour ?
el =R v Frafaiaa 8 9 s garers s T8 2 7
Options :
Monetary gain
| S @

Love of others
. Tl @ oy v
Emulation of others
5 GURT W IHF
Vanity
4 THeEHEE

Question Number : 66 Question Id : 4548934603 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following consumer decision stvle is characterized by ‘a
consumer's tendency to follow a routine purchase pattern on each purchase
occasion not involving much evaluation and having a well formed pattern in
choosing ?
1 HE B (A N sEEe WO SueEar g1 U gatiia aiid § aaq wee
G e 5 A 1 e 3 e e S 1 3 e s
Options :

Brand consciousness
| 7€ STfHsTe

Quality consciousness
UTEET ST

Habitual loyalty
SY LS 6 E I L

Price consciousness

G S B )

Question Number : 67 Question Id : 4548934604 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question

A major ditficulty we encounter in problem solving is the cognitive limitations
imposedby .........._.. :

A WA H BH W WA 990 BoAE BT ST B § AT .  FT AR
g T A

Options :

Long term memory

Short term memory

Both short term memory and long term memory

SrEdIfers 3 ag@rae Wi

Perceptual svstems
21 4 Pl B

Question Number : 68 Question Id : 4548934605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Which of the tollowing measures by the team coach would nof be effective in
enhancing the morale of the sports team ?
& uftters g wyEd 0 wE g FEfaiaa soa 3 9 s faeng 7w @
0 18 1 e ) B el s s M | T < A

Options :
Enhancing interpersonal communication

Making sports a source of enjovment

Disciplining for failure by penalizing
SU€ N1 Smadl & fau agenfia &

Setting goals for the plavers
fgenfeal & fom @y Feifia v

Question Number : 69 Question Id : 4548934606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Which of the following should nof be exhibited by a true sportsman ?
fiet e faenst & g1 FA=fafEaa 5 9 @ usfia F81 s gy ¢
Options :

Being persistent

l?"l‘ﬂﬁﬂ?ﬁm

Maintaining self control

5 £5 B R P B e B

Being fair in sports situations

5 T affRfaEr | S S

Forusing on winning by anyv means

4 foFefl 1 a9 9 S T Hdtad B

Question Number : 70 Question Id : 4548934607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which of the following statement is nof true about social psychology ?
It JIEsTE & Had | F=fafaa § 9 e w9E wol 981 8 ¢
Options :

Focuses on causes of individual behaviour in social situations
, qf¥ferfern | @ifaa & sEEr W HEg

Studies individual's congnitions in context to social situations

5 it aRRefaar & Wed | =i & s w1 serE

Adopts a common sense approach to understand social behaviour
5 WTAITS® STTER P TS & W @ i s

Believes in occurrence of all behaviour in a social context
4 T8 fAvary 4w @R aefee desd | e #

Question Number : 71 Question Id : 4548934608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Historicallv, who of the following is credited with conduction and publication
of the first experimental study in the area of social psychology ?

UfdRIiid Y § UrHIs AfEsTE @ & H HhaueH UriTe e & 9Red ud
apreT @1 A9 Fefalaa 4w fFaa R s g v

Options :
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William McDugall
faferm AT

Kurt Lewin
e afa

Norman Triplett
z 1 b M T 5

Muzater Sherif
G E LR IR

Question Number : 72 Question Id : 4548934609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is nof an advantage while using "participant observation

as a rezearch method in social psvchological research ?

s AarasnfeE I | e fAfe & w9 7 weartt uEer o ST %Y 1R

Options :
Obzervation of realistic & natural behaviour

Observer s involvement with participants over time
G i R e e M R O B L i i

Obtaining in-depth & meaningful information

TEdl Ua YU AR Bl AT B

Possibility of recording spontaneous behaviours
WA W AN A B WRIEl
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Question Label : Multiple Choice Question

Which of the following is a disadvantage of planning a study with face-to-face
administration of questionnaire in social psychological research ?
Freafafga & @ ®F-w wrfss S asias ma 7 aeEEeE w1 arrET SEE-

HIHA Y & 3 8 ¢
Options :
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Reduction in time consumed
SR e B A e e | B

Enhancement in validity of responses

Possibility of adding probe questions
TENTS T iE B WO Bl Sied @ R

Respondent selection being based on accessibility

4 VTR 1 = e W #
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Question Label : Multiple Choice Question
Which of the following is not an essential condition for formation of a group ?
R Gl O B s O 5 £ 1 e e T e s P e | 1 s i D B o e L 7
Options :

Minimum two individuals
1 W wH ar Afia w e

Common goals
o Tl B HIEHEN

Interdependence
3 TR [

Direct interaction

4 e Sl
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Question Label : Multiple Choice Question
A major difference between ............. r T T groups is, that the
former groups are pre-existing formations which are usually given to the
individual, whereas, the latter group are those which the individual joins by
choice.

W, - S— BT W Wad UNE = A8 2 [ e Seoiiad WeE usd 9 8
fﬂﬂﬁHW?ﬂTfﬁFW 1 e 1 B e e M A | 2 0 = 1 RS T e MG s
LSS 4 1 O s B S S | B R A B 1 5| T s B B

Options :
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Formal, Informal
ey, TS

Primarv, Secondary

2163002 i o (= 1B [ 0

In-group, Out-group

Membership, Reference
Hewdl, a9
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Question Label : Multiple Choice Question

"A change in behaviour of an individual that occurs as a result of being
requested by another person or group to act in a specific manner, and where
the individual acts in the expected manner even though it was possible for
her/him to refuse or decline’, refers to which of the tollowing ?

Tttt =1fad & =aen | 81 aren tw afads ot [l @fba @ wE g A
AL e B e R el o s M v e B o T T R ko AR B e e | e W ) o
M W @EeEN a9 W Een 81 wdie SuE 60 WA B A Adee aeE gr,
S8 6 o e s s e 2

Options :
Conformity’
) JHT_-_['-'I'IT'H

Obedience
TSI

Compliance

I
3 : = 4
Social facilitation

M LUEEZRSUMIE Ok
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Question Label : Multiple Choice Question

Which of the following is not included within the components of attitude ?
Fefaftaa 4 W we-w atigfa & ges | wfsEtea 987 2 7
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Options :
Motivation
ATy

Cognition
SEIE

Behaviour

Atfect
CIEE]
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Question Label : Multiple Choice Question

"When the components, aspects or elements of the attitude, or attitude system,
are in the same direction’, it refers to which of the following ?

‘wrg sTPygler A1 afRgla sraven @ we@, Ugel W1 Ovg U@ B @RI H B a4 gud
arery FAsfaRad 5 @ ®E-w e 7

Options :

Attitudinal complexity

. sifgeeTE Al

Cognitive dissonance

5 WETATHE STl

Attitudinal simplicity

7 APgETEE Il

Cognitive consistency

4 R'W‘FII‘IU'IEI? \!”‘ﬁl
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Question Label : MUItip]E Choice Question

Negative behaviour directed towards members of social groups who are object
of prejudice’, refers to which of the following ?

AME & ¢ed WY & awn & ufy FERE o sEe @ are FEfaiaa
LG | O A

Options :
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Neglect
ST

Stereotipe

, e

Diserimination
faerataa

Marginalization
R IEE I e
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Question Label : Multiple Choice Question

When 'the target group's manner of behaviour provides confirmation of a

stereotvpe, to which of the following sources of stereotvpe does it refer to ?

W AI-UHE B AR HYA F avdl Sfedfad @ gt ween 87 a@ guen aredd
feafae & fFr=faias w5 sE-a 2 7

Options :
Self fulfilling prophecy
1 YA HTEd HETi

Scapegoating
5 qfer @1 adT @ T

Kernel of truth concept
3 W W AN T

In-group biasing
4 TTEHE G
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Question Label : Multiple Choice Question

Which of the following is nof a characteristic feature of a 'tranformational

leader ?

Fr=faiaa 5 9 oE-3 TEAaeTRE 97 @ [Arre g J8@ e v

Options :

Emphasis on intrinsic motivation of followers

L TmARA @ aqreiE afiRe o ge S
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Taking decisions by selt on behalt of group members
> B Hew & A = Ao o

Highlighting group priorities
5 WE @ WrEAfAmareT 1 i e

Promoting cooperation and harmonv

4ﬂmﬁmqﬁmﬁwﬁmmw
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Question Label : Multiple Choice Question
Which theory of leadership posits that There is no one best stvle of leadership
and the effectiveness of a leader depends upon the correct match between
his/her leadership stvle and the situation' ?
Bl o fhe | @ wafadar saa age gen ga aifefm & 9 oud gaer
W A e 2 v
Options :

Contingency theory

1 m‘qﬂﬁ’l‘iﬁ T

Leader-member exchange theory

o TTA-RE Waw snar-AEr R

Transactional leadership theorv

Transtormational leadership theorv

o FIRTRE e et
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Question Label : Multiple Choice Question

The major functions of which of the following cells are to maintain homeostasis,
form mwelin, and provide protection for neurons ?

FefaRaa st 4 | fFue wga Ser sy e @ e e,
argfer @ B, va Ren vyaE & 8 o7

Options :
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Blood cells
Vel I

Glial cells

Muscle cells
2 k2 e B 1 B )

Stem cells
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Question Label : MLlltip]E Choice Question

Which of the following cranial nerve is responsible for the control of vital
organs like heart, luns and digestive tract ?

S, WS U urEd uumelt oY oifgq & fav smgwme snn & fFeem @ e
Fresfaiiaa 5 | $E-9 Furelia af>er Sovar 2 7

Options :

Abducens nerve

UaS = dfad

Hypoglosszal nerve

Trigenunal nerve
cTEuliH=eE aid

Vagus nerve

4 T dfEd
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Which of the following part of the central nervous system is associated with
receiving information from the sensorv systems, the spinal cord, and other
parts of the brain and then regulating motor movements, mainly coordinating
the voluntaryv movements ?
Fratd diF@l 93 &1 FEfeiaa d W SE-a e e qonierl, e g AR
G 7T W B 2 o TR s B 7 O Y e B e 20 O ) R 72 A B R o
Options :

Thalamus
, e

Cerebellum

ﬁl%-ﬂﬂ

Medulla

Pons

4.
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Question Label : Multiple Choice Question

What tvpe of change would take place in the Basal Metabolic Rate if there is a
sudden rise in body temperature as during fever ?
afe IR & amaE | gEEE aRada B S o 6 ger @ dRE, @ g
A &Y H {59 UER B ufiadT 2o 7
Options :

Increment

1.

Decrement

2r?."'|'~’.1

No change

Smmﬁaﬂﬂaé’f

Fluctuation

4aﬁvﬂ?n
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Question Label : Multiple Choice Question

The control of human metabolism is done through the action of which of the
following glands ?
I e 1 = e £ B DY o 3 e O | | M B M 3 s GRS e e 1 et e =2 ) O 22 R s
B
Options :

Parathyroid
;TS

Pancreas
1= B

Thyroid
TN E

Adrenal

B —
0 =X [
s ' A b
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Question Label : MLﬂtip]E Choice Question

The cones which are the colour receptors of the human eve contain which of the
following chemical ?

A A 11 1 I e P B 1 E O o e O o | R O O 2 A 1 B s S
Options :

Vitreous humor

Iodopsin
Farerf-
2.

Rhodopsin

CETET
3.

Aqueous humor

, T3S TR
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Question Label : Multiple Choice Question
The Resonance or Place theory' of hearing was originally proposed by whom of
the following ?
qqUI & AEATE A Y fagra w waaueE FeEfeiEa § o9 e afefea @
oq1 ¢
Options :

Herring

1I E"I“‘li

Wever and Brav

2#‘3*"721

Ruthertord

Helmholtz
4 Fafes Fd [els)|
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Question Label : Multiple Choice Question

If on presentation of a stimuli with a particular value it's sensation is present
50% of times and absent 50% of times then what would the value of the stimuli

be called ?
e faem 79 & Sudd & Ui By 99 AafE SHET Hae 50% av Saiver
B a1 50% & Juied & o ShAd &1 q8 AT F BFEARA 7

Options :
Terminal threshold

1 HIHr= AT

Absolute threshold
o e s

Differential threzhold
- e SaedmE

Point of subjective equality

4 STETTA fawg
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M)

Space Error' and Movement Error’ are associated with which of the following
psychophysical method ?

worr Fie ua g e Feafaiaa s @ 6 9 eaw e g 7
Options :

Method of Limits
1 W A

Method of Constant Stimuli
o e SEe faf

Method of Average Error
5 A e

Serial Exploration Method
4, I S fafs

Question Number : 92 Question Id : 4548934629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In which of the following scales response to given statements are on a category
scale that has brief descriptions associated with each, assuming that distances
between each category are equal and the respondent is expected to select that
category which best describes his /her response to the given statement’ ?
Frefaftaa 5 @ fiew Acer 8 @9 o sy & ufd & S aeh sEiear ud
ERAE a1 e A S s A e e T e e 2 B e RS e ) S
Wrag Higrd faawer &0 g 8 3 ufesnfl | amen @ W 8 6 98 99 9 &
A7 T SNk HAF & U IED B B waw d= g | aia e 87 ¢
Options :

Lickert Scale
1 ferpe A

Paired Comparison Scale

o T T AT

Rank Order Scale
3 PIfead A

Q-sort Scale
4 FE A
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Question Label : Multiple Choice Question
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Whom of the following conceptualized ‘stress as a product of a transaction
betiveen a person and his or her complex environment and proposed the
concepts of ‘primary’ and 'secondary’ appraisal of stressful situation which
influence one's response to stress' ?

F=fafea 7 9 e ufdas &1 (&9 =faa va saa e aamEr & @fEEa @
| Eciis e ol e B 27 e ro N et e R e B R e O 12 e e B S B s
G e e e R e 2 T 1 e e e e o B O | | = e e e e s B R
-

Options :

Suzanne C. Kobasa

Hold o FHrar

Hans Selve
B Wil

Holmes & Rahe
g Uq IR

Richard Lazarus
Rrare arame
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Question Label : Multiple Choice Question
Under which of the following condition of the stress the negative consequences
of the stress are likely to be leszened ?
Fefafiag § o frw iRl & sFoeta ufded & sEonors oo § &+ 29 @
AT & 7
Options :
Being chronic
1 YTl E@

Being expected
o SIS BT

Being long-term

Being intense
4 T BT
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Which of the following refers to 'the skill that helps the individual to
communicate his/her feelings, needs, and thoughts, clearlvy and confidently
and is associated with the ability to clearlyv say no to a request, to express one's
opinions or emotions openly without being self-conscious' ?
Fefaftza 7 @ feger e SW @ 9 8 o @ifad @ S T,
sz ud faant & wear e fam ffae & wig s J 98ne g B oud
2 223 e T 5 e e Lol ke s P M e e s O A e el o S T
AT B B AT W TEG &7
Options :

Hardiness

Resilience

Self-confidence

AT

Asserfiveness
4 ETIREE BRI B
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Question Label : Multiple Choice Question

Which of the following is not associated with the humanistic perspective of
psychopathology ?
5 R e s A S e e s e e e B s s e -
Options :
Belief in human potential
| AT wme | favam
Availability of positive regard
o TAE T W] FHCTETT
Availability of reinforcement
. A A FUCTETT

Respectful attitude of therapists
4 FAEETHET B e Sfagfa
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Question Label : Multiple Choice Question

The lowered levels of the neurotransmitter serotonin and endorphins are
believed to be associated with which of the following psiychological condition ?
Wi E i dfEerdEanel & wR o6 e AEfafaa 5 9 et
S W WG AT ol 8 7

Options :
Depression
g, MR
Anxiety
CHEL BT

High arousal
ITg Sarl

Calmness
I
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Question Label : Multiple Choice Question

Which of the following stvle of parenting is likely to results in development of
moodiness, low self-esteem, problems with peer relations as well as conduct
problems in the children ?

are-fagea @ [ ool & aRvTTEET a= q AreRT el Saens wied
sif¥etETTl, M= SR, OHaI 91 R e EHENS @ [AaErd B @
WA BT § 7

Options :
Authoritative

i aeTiNG

Authoritarian
D

Neglecttul
qIATE

Permizsive

g ST

collegedunia:

India’s largest Student Review Platform



Question Number : 99 Question Id : 4548934636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable :
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In which of the tollowing vear was the fifth update of Diagnostic and Statistical
Manual of Mental Disorder (DSM-5) Gltb lished ?

e e & st s w)eR
(Eoudouno-5) fFw au # v gam o

Options :

2015
1.

2007

2011

2013

ot 7B S o M DO 1 I 1
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Question Label : Multiple Choice Question

The International Classification of Disease or the ICD system of classification
which was produced by World Health Organization is ratitied by all
WI—IO member countries.

s i e e e O e | B 1 ) e
e acg ge sitFTgSITE BW R T *TTFH_"TF?TJI‘
A arfegee feEr @ |

ey § -
Y

Options :

193
1.

- ||
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In which of the following disorders 'a person experiences neuroclogical
symptoms which are not attributable to any medical condition and which can
actually affect motor functions and senses ?
fFrefafitea 5 @ fr fAer 3 &g @fda 53 =afEe e @ 9 s g
fmam sRvr g fafdcadsm s 981 8dT Ud e aaidear § Sud gehg
afbaTall Ud Weae & weifad w addl g 7
Options :

Malingering
1 YT @1 qETT

Hyvpochondriasis
> MMHH

Conversion disorder
EET I

Phobic disorder
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Question Label : Multiple Choice Question

Which of the following is not a key symptom of Schizophrenia according to
DEM-5?
Eo T¥Ho UHo-5 & R Fr=failRaa § © ®F-w wiaaera & UF varH de F8@ 2 7

Options :
Delusional thinking

Behavioural disinhibition

Hallucination

EEE

Dizorganized speech

4 qerafierg o
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Which of the following neurocognitive disorder iz mot included within the
tvpes of dementia ?
fAeifafiaa # -1 dfEm-asnars Gen e & aa § aftafora 98 8 ¢
Options :

Delirium
ikl

Alzheimer
ACSNEHY

Pick's diseasze

Huntington dizease
gferres
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Question Label : Multiple Choice Question

Which of the following is nof a diagnostic criterion for depression according to
DSM-5 ?

€lo UHo UHo-5 % a1gER FA=fafaa § & &=- sraens @ qwifes s J8T R v

Options :
Diminished interest
 ofE A a

Physical activeness

> IR EG s ARG |

Indeciziveness
3 J] l_:l k- r]‘Jlrr-lJ :F._“

Diminished concentration

4 TEPTIH H B
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Question Label : Multiple Choice Question
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‘A child who violates the rights of others, displavs aggressive behaviour towards
people or animals, steals or deliberatelv destrovs other's property, and who
lacks empathy’, is likely to be suftering from which of the tollowing ?

g ardd /ae® o gOY & ANERT @5 B &, SIfEad vd el & ufd s
232 R £ e P O e 1 e 1 e e 1 e T Lol e B s s e 5 s
G P 1 O M R o s Lo e s O 2 e 1 ot A e M ) o 4 ) R

Options :
Paranoid personality disorder

Attention Deficit Hyperactivity disorder
o EATIICTN S A fa@

Oppositional defiant disorder
3 [ R A G R o | B O B S I

Conduct disorder
4 HTEAI] EEQES
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Question Label : Multiple Choice Question

Which of the following is not a characteristic feature of Alcohol Withdrawal

Delirium’ ?
Fresfaftan & & we-m " fafbads afsoa @ e oo 987 2 7
Options :

Lo Blood Preszure
1 = vaam

Disorientation of time and place
o IS TG W @ ATt

Vivid hallucinations of fast moving animals

ATt W ared gl & Sl faue

Marked tremors of hands, tongue & lips
219, SiH Ud BSl 7 T w5
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Which of the following iz pharmacologically not a narcotic but a stimulant
drug ?
fA=fafaa 4 9 sE-d1 99fad™ 9 9 vE [Eg 9 8 Ul Sowd e § 7

Options :
Heroine
1,?ﬁgq

Opium
3T

Cocaine
Ef;'l ik

Morphine

AT
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Question Label : Multiple Choice Question

Which of the following is mot associated with psvchoanalytical therapy
process ?
feiferfaa 9w ®F-a1 FEfavayores Ffeem wre o g F8@7 e °

Options :
Empathy
| T

Transterence
H 9]

Interpretation

=

Free association
4 T e

Question Number : 109 Question Id : 4548934646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

TRational Emotive Therapy' as a psvchotherapeutic technique is based on the
thearetical conceptualizations of which of the following psychologists ?

feft Fefafdenad ad-id & w9 1 aifds-ganers fafeen F=faiaa 5 @ By
HATISTTE & Agifad Sueiieee v e g ¢
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Options :
Ivan Pavlov
Hi=dm+ q' 1' SIGE

B. F. Skinner

Albert Bandura
AT g

Albert Ellis

4 e Ufery

Question Number : 110 Question Id : 4548934647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following behaviour therapv techniques are nof based on the
tenets of classical conditioning ?

Frefafiea 5 9 - sEervard fBfdom aedts ganfad seeE & e w
amenfya FET 2 7

Options :
Token economy
i ATHfers ererasen
Aversion therapy
e fafdem

Flooding
ERIER!

53'5tenmtic desensitization
G B S Ei B A G ikl

Question Number : 111 Question Id : 4548934648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Providing empathic understanding, warmth, unconditional positive regard,
and reflection of clients feeling in non-judgemental manners’ are main features
of which of the following therapv ?

e R U3 1 2 M 1 O o | M e 1 B £ s M e e O | s s e s e s M
P Araen @ wiifaed FrEfeiaa 7 9w sfEieen e fAfre aeor g 7
Options :
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Psychoanalytic
URIERS R

Client centered

Wt g

Cognitive behavioural

HSITHTHE SAERIHD

Existential

4 RIS

Question Number : 112 Question Id : 4548934649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Mental retardation was renamed as Intellectual disabilitv' in which of the
following editionof D. 5. M. ?

q f@=m war o 7
Options :

DSM-III-R

1 SlotgouH-III-3o
DSM-IV
glouHouHo-IV

DSM-IV-TR
ElouHotHo-IV-Eoaiio

DSM-5

?.;LI'] 1OUHO-
4 CPTHOTHO-5

Question Number : 113 Question Id : 4548934650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Which of the following is the correct matching between the Type of Intellectual
Disability given in Column - A and the causes given in Column - B ?

W - A W a9 17 aifg® e & ueT ud w1 - B A R e wreen wr wd
i Frafafiaa 4§ F-a 2 7

Column-A Column - B
W - A W™ - B
(a) Down Syndrome (i) Lack of a particular liver enzyme
T3 HA fret favm apd yeetgd @ @
(b) Hydrocephalv (i) Trisomyv 21
SereTen AT 21
(c) Phenvleketonuria (iii) Arrest of brain development of fetus
g erde =y o1 & Aftrd e | e
(d) Microcephaly (iv) Accumulation of cerebrospinal fluid
SRR AR F g @l S
Options :
1 (Et} = {qu [b} = (i‘r}r (t} a5 h.’r {d} = [1.11]

> {ﬂ} = {l.‘l.'t}, {b) = {11}, '[':} e {1‘*:“ {d} =% {1.}

3 (ﬂj 5 {l)r (b} . (111), LE)— {i\"'}, (dj = {1.1}

4 (a) = (iv), (b) — (1), (c) — (iid), (d) - (1)

Question Number : 114 Question Id : 4548934651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is nof a true statement about the Interval level of

measurement ?
HIU @ FwaeTel WY @ faum |/ fAefafiaa |5 9 - e 9o J@i e ¢

Options :
A real zero exists

Unit of measurement exists

2%@3@%%%?

Values are ordered

2 TR FE A B 8
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Consecutive values are at unit distance

i 7 15 ) s M) s A e el

Question Number : 115 Question Id : 4548934652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following is not involved in the process of 'item analysis' ?
Te-faveror @ ufien 7 F=fafaa 9 @ @ at=fza T8 2 7
Options :
Item difticulty analysis

5 (ol 1 T i [y M 5 B i A

Item discrimination analysis
s faues Aeemo

Item writing

Distractor analvsis
Al \'.zl cldh fH"FI’F’I

Question Number : 116 Question Id : 4548934653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which tvpe of validity refers to 'the degree to which two psychological
constructs that should theoretically be related, are in fact related’ ?
3 T arefadar |/ Saen 8 Wag 8 a1 $HET aread e U o qaar 9 8 7
Options :
Concurrent validity
| WA e
Criterion validity
o 51 e M 73 | oAl 2 I
Content validityv

. S Es | R T Ol = ||
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Convergent validity

4 [T e

Question Number : 117 Question Id : 4548934654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is #of one of the basis of analysis of Rorschach Ink Blot
test responses of a client ?
Fefalea 4 W ®E-w1 50 waefl & 0 wd gar e g 1 7g sEfhma
% favemv &1 ve A FE@ § Y
Options :

Location

y T BEa L

Thema

> TN

Content

5 TR

Deternunant

4 SR

Question Number : 118 Question Id : 4548934655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The NEO-FFI personality inventory was developed by whom of the following ?
UHogodlo-THoUoage @ifdas el @ fawra F=faiaa 5 9 fFa® grn @

AT A7 ¢
Options :

5. R. Hathaway and ]. C. McKinley
, T¥o de 2T U4 Slo o Hideen

K. C. Briggs & 1. B. Mvers

5 PO Hlo farw va @rgo g0 HiH
P. Costa & R. R. McCrae

5 o BRI [@ 3ARe IR0 Hip
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Ravmond B. Cattell

4 VTS dlo Hed

Question Number : 119 Question Id : 4548934656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The origin Binet-Simon test consisted of how many items ?
[@9-|1gH 9™ & Hod ®9 A fdad ug o 7

Options :
58

Question Number : 120 Question Id : 4548934657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the tollowing is nof a performance sub-scale of Wechsler Adult
Intelligence Scale-IV ?
[F=faRaa 9 9 ®F-91 9%er tSee soforad |AEl-IV @ [FomEea Su-amfen 8 9
G
Options :

Identifving similarities

Picture completion
o o IO

Svmbol search
3 rl"..'-l q- 2 q:;‘- Q_ﬂ .E '..ﬂ
Matrix reasoning

4 TR S
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Number of Questions to be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

SECTION 2

45489349
2

5

Online
Optional
116

116

360

Yes

No
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45489354
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Question Number : 121 Question Id : 4548934658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the tollowing first considered conscious experience as a process ?

Options :
{ McDougall

- William James
. William Wundt

i Tichner

Question Number : 122 Question Id : 4548934659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the tollowing proposed 5-O-R" model of behaviour ?

Options :
{ Woodsvorth

5 Cattell

Watzon

i Thorndike
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Question Number : 123 Question Id : 4548934660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is the main characteristic of experimental method ?

Options :
Generalization

3 Manipulation of variables
Randomuization

Elimination

Question Number : 124 Question Id : 4548934661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Which one of the following defined personality az a dynamic organization of

psvcho-physical systems ?

Options :

Cattell
3

Allport
2.

5 Ebbinghaus

Sullivan

Question Number : 125 Question Id : 4548934662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is not a projective test of personalitv assessment ?

Options :

i Rorschach Ink Blot test

5 TAT

Evsenck Personality Inventory
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Sentence-C mn:::letian test

Question Number : 126 Question Id : 4548934663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Which one of the following is considered as seat of emotions ?

Options :
Thalamus

2 Hypothalanws

Peripheral nervous svstem

Limbic system

Question Number : 127 Question Id : 4548934664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following developed the "Stanford-Binet Intelligence Scale” ?

Options :
Binet

5 Stantord

Terman

Cattell
4,

Question Number : 128 Question Id : 4548934665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

"Alexender Pass Along Test’ measures

Options :

General factors of intelligence

Motor perfnrnmnte
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Mental retardation

Concrete intelligence

Question Number : 129 Question Id : 4548934666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the tollowing is not included in Thorndike s laws of learning ?

Options :
{ Law of readiness

5 Law of exercise

Law of similarity

4 Law of effect

Question Number : 130 Question Id : 4548934667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who among the following propounded “instrumental conditioning” theory of
learning ?
Options :

{ Pavlov

Watzon
Skinner

Ebbinghaus

Question Number : 131 Question Id : 4548934668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

When e perceive a stable object moving, it is referred to as :

Options :

1 Autokinetic effect
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> Phi-phenomenon

5 Displacement

4 Induced movement

Question Number : 132 Question Id : 4548934669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Which one of the following is not a lavw of perceptual organization ?

Options :

, Law of similarity

5 Law of frequency

5 Law of proximity

Law of continuity

Question Number : 133 Question Id : 4548934670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is responsible for colour sensation ?

Options :
1 Bipolar cell

Rods
2.

3 Cones

i Ganglian cell

Question Number : 134 Question Id : 4548934671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Which of the following is most important part of hearing system ?

Options :
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1 Cochlea

Semi-circular canal

= Pinna

4 Custachain tube

Question Number : 135 Question Id : 4548934672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When the later learning interferes with the recall of previous learning, it is
called :

Options :

{ Reactive inhibition

5 Proactive inhibition

= Retroactive inhibition

4 Active interference

Question Number : 136 Question Id : 4548934673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

QUEEtiOﬂ Label : Multiple Choice QLIEEti‘DH

Who started use of 'nonsense svil ables" in the study of memory ?
Options :

3 Ebbinghaus

> Bartlett

= Atkinzon

4 Jenkins

Question Number : 137 Question Id : 4548934674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

According to Bartlett, forgetting is a
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Options :

1 Constructive mental Process

> Reproductive mental process

3 Active mental pProcess

4 Disturbed mental process

Question Number : 138 Question Id : 4548934675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the tollowing is most sensitive method of measuring retention ?

Options :

{ Recall method

5 Recognition method

- Releasing method

4 Reconstruction method

Question Number : 139 Question Id : 4548934676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Who for the first time suggested the application of principles of psychology in
improving industrial efficiency ?

Options :

) Gilmer

> Herzberg

3 Hoppock

Munsterberg

Question Number : 140 Question Id : 4548934677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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Which one of the following is real determinant of heredity ?
Options :

Genes
1

5 Chromosomes

3 Neurones

i Cytoplasm

Sub-Section Number: 2
Sub-Section Id: 45489355
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 4548934678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

The boundarv between India and Pakistan was demarcated by :

Options :
1 Lord Mountabatten

5 Sir Cyril Radclitt

Sir Lawrence

i Sir Stattord Cripps

Question Number : 142 Question Id : 4548934679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The Quit India Resolution was ratified by the Congress in its session :

Options :
{ Sth August 1942, Bombav

5 11th February 1922, Gava

5 20th December 1920, Lahore
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i December 1920, Nagpur

Question Number : 143 Question Id : 4548934680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who was not associated with the Self-Respect Movement' in Tamilnadu ?

Options :
1 B. R. Ambedkar

> Perivar

- Soviet-Socialism

4 Kudi Arasu

Question Number : 144 Question Id : 4548934681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The dalit community which strongly supported Mahatma Gandhi was :

Options :
) Namasudras

5 Iravas

3 Vankars

o Mahars

Question Number : 145 Question Id : 4548934682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Rashtriva Sevika Samiti, the women's wing ot RS5, was founded in vear:

Options :
1835
1.

2.1Q3U
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Question Number : 146 Question Id : 4548934683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The name of ashram founded by Gandhiji in Atfrica was :

Options :

i Durban farm

Phoenix farm

3 Natal farm

4 Sabarmati farm

Question Number : 147 Question Id : 4548934684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

To accommodate demand for Pakistan the constitution of Muslim League was
amended in vear :

Options :

1937
1

1939
il

0
3.140

1941
4.

Question Number : 148 Question Id : 4548934685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The Red Sea is an example of :

Options :
Folded structure
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5 Faulted structure

Lava structure

Residual structure

Question Number : 149 Question Id : 4548934686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What produces a basket of eggs' topography ?

Options :

Wave Erosion

5 Glacial Erosion

5 Wind Deposition

4 Glacial Deposition

Question Number : 150 Question Id : 4548934687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The theorv which believes that the South America and Africa were once joined

together :

Options :
1 Continental drift theorv

5 Tetrahedral theorv

Plate Tectonic theorv

4 Ritter's theorv

Question Number : 151 Question Id : 4548934688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not planetary winds ?

Options :
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{ Easterlies

o Westerlies

5 Drainage winds

4 Trade wwinds

Question Number : 152 Question Id : 4548934689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Ferrel's law is concerned with -

Options :

' direction of winds

- Vvelocity of winds

intensity of waves

A intensity of light

Question Number : 153 Question Id : 4548934690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The first woman Vice-Chancellor appointed in Janua Milia Islamia University is -
Options :

) Najma Akhtar

5 Sabiri Khatoon

Najma Heptullah

Sara Malik

Question Number : 154 Question Id : 4548934691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

International Day of Human space tlight is celebrated each vear on :
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Options :
) April 10

5 April 11
o Apnl 12

4 May 13

Question Number : 155 Question Id : 4548934692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Where the World Water Sunmmmit was held, in which Namami Gange
Programme’ was awarded :

Options :
Brisbane

5 Johanasburg

Mumbai

4 London

Question Number : 156 Question Id : 4548934693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

A private company which launched the First Moon Mission is:
Options :

1 Boeing

Space Axe

3 H-.'l‘i u‘kS

Lockheed Martin

Question Number : 157 Question Id : 4548934694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question

The Central Committee has approved creations of a new post in the office of
Comptroller & Auditor General of India (CAG). This new post is :

Options :

; Chiet Comptroller & Auditor General of India

5 Deputy Comptroller & Auditor General of India
. Assistant Comptroller & Auditor General of India

4 Additional Comptroller & Auditor General of India

Question Number : 158 Question Id : 4548934695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The rank of India in World Press Freedom Index, 2019 is -

Options :

1 140th

Question Number : 159 Question Id : 4548934696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

The biggest Artiticial Intelligence (Al) Summit of the world will be organized
imn:

Options :
India
1.

France
2.
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Question Number : 160 Question Id : 4548934697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Pulitzer Prize, 2019 was given to a Newspaper for disclosing information about
the American President Donald Trump and his family member. The name of
that Newspaper 15

Options :

) New York Times

5 The Times

- Washington Post

4 The Advocate

Question Number : 161 Question Id : 4548934698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The scientists who have successtully made artificial 3D heart belong to:

Options :
1 China

5 America

3 Israel

4 India

Question Number : 162 Question Id : 4548934699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Satellite RAVAN-1 has been launched by :

Options :

1 Pakistan

> India

3 S Lanka
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A China

Question Number : 163 Question Id : 4548934700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The world s first armed amphibian drone boat was successtully tested by :

Options :

{ China

> Israel

France
=

4 America

Question Number : 164 Question Id : 4548934701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

75th anniversary of Kanglatongbi war was celebrated recently. Kanglatongbi is
situated in :

Options :
Mizoram

M: s
5 - lanipur

Nagaland

i Andhra Pradesh

Question Number : 165 Question Id : 4548934702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The first company in Australia to start drone delivery service is

Options :

1 E-Bav

> Flipkart
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Amazon

4 Google

Sub-Section Number: 3
Sub-Section Id: 45489356
Question Shuffling Allowed : Yes

Question Number : 166 Question Id : 4548934703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the following question four words have been given, out of which three are
alike in some manner and the fourth one is ditferent. Choose out the odd one.

Options :
1 Gallon

> Ton

3 Quintal

= .
f Kilogram

Question Number : 167 Question Id : 4548934704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Choose one out of the four given alternatives, which mentions the quality,
conunon to the three given words.

Stool : Table : Chair

Options :
i Oftice

5 Carpet

3 Bench

4 Furniture

Question Number : 168 Question Id : 4548934705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the follos ving question four numbers are given out of which three are alike in

some manner while one is different. Choose the one which is different from the
rest three.

Options :

27468
1rﬁ4nb

2048

Question Number : 169 Question Id : 4548934706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the tollowing question four groups of letters are given. Three of them are
alike in a certain way while one is different. Choose the odd one.

Options :

1 PUT

> END

5 OWL

4 ARM

Question Number : 170 Question Id : 4548934707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Choose the correct alternative that will continue the same pattern to fill in the
blank space -

2,9,17,29,45(....)
Options :

o0
1
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Question Number : 171 Question Id : 4548934708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In the following question, one term in the number series is wrong Find out the
wrong term

510,17, 24, 37

Options :

1 10

Question Number : 172 Question Id : 4548934709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If FRAGRANCE is written as SBHSBODFG, how can IMPOSING be written ?

Options :

1 NQPITHOJ

NQPTJOHI
NQTPJOH]

NQPTJOH]

Question Number : 173 Question Id : 4548934710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If MISTAKE is coded as 9765412 and NAKED is coded as 34123, then how
ASSIST is coded ?

Options :

1Lluu?nl
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Question Number : 174 Question Id : 4548934711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In a certain code, 37 means which class and '5383' means caste and class'. What
is the code for caste’ ?

Options :

-
3

P

~J

(¥ )

Either S5or 8

Question Number : 175 Question Id : 4548934712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In a certain code language 479" means ‘fruit is sweet’; '248' means ‘very swee
voice” and 637 means ‘eat truit daily’. Which digit stands for is in that code ?

Options :

7

1.

4 None of the three

Question Number : 176 Question Id : 4548934713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUltip]E Choice Question
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Rasik walks 20 m North. Then he turns right and walks 30 m. Then he tums
right and walks 35 m. Then he tums left and walks 15 m. Then he again turns
left and walks 15 m. In which direction and how many metres away is he from
his original position ?

Options :
1 15 metres West

30 metres East
3 30 metres West

45 metres East

Question Number : 177 Question Id : 4548934714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtiplE Choice Question

One morning after sunrise, Reeta and Kavita were talking to each other face to
tace at Tilak Square. It Kavita's shadow was exactly to the right of Reeta, which
direction Kavita was facing ?

Options :

1 North

> South

3 East

4 Datainadequate

Question Number : 178 Question Id : 4548934715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

How many pairs of letters are there in the word SEQUENTIAL' which have as
many letters betiveen them as are in the alphabet ?

Options :

One
;B

T‘.‘ 0

Three
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Four

Question Number : 179 Question Id : 4548934716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

It + means —, — means ¥, X means + and + means +, then -
15x3+15+5-2=?

Options :

l.U

10

20

Question Number : 180 Question Id : 4548934717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If @ means ‘plus’, b means ‘minus’, ¢ means multiplied by' and d means 'divided
by, then18cl4abblod4="?

Options :

03
'

Question Number : 181 Question Id : 4548934718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
How many 3’z are there in the following sequence which are neither preceded
by 6 nor immediately followed by 9 ?
1366395937891639639
Options :

" One
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1-": Sin
5 Three

Four

Question Number : 182 Question Id : 4548934719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

Find the missing character in the following question :

286 1a

142 34

Options :
72
18

70

oo

Question Number : 183 Question Id : 4548934720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

Find the missing character in the following question :

4 1

Options :

1
1 2

[
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Question Number : 184 Question Id : 4548934721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In the following diagram, parallelogram represents women, triangle represents
sub-inspectors of police and circle represents graduates. Which numbered area
represents women graduate sub-inspectors of police ?

Options :

Question Number : 185 Question Id : 4548934722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Arrange the following words in the sequence in which thev occur in
dictionary :

1. Brook 2. Bandit 3. Boisterous 4. Batfle 5. Bright

Options :
1 % 2351

Mo
I
=
Lo
ok
Jl

I
o
A
Jl
[—

Question Number : 186 Question Id : 4548934723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The digit in the unit place in (1038) is -

Options :

2
L

Question Number : 187 Question Id : 4548934724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The smallest number from which if 4000 subtracted, 1s exactly divisible by 7, 11
and 13, is:

Options :

200"
{ 5001

2000

1000

Question Number : 188 Question Id : 4548934725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

-_—r ' o | ;
A rope is 25— m lone. How many pieces each of 1 — m lone can be cut trom it ?
o = R | 9 o

Options :

1o
;1
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Question Number : 189 Question Id : 4548934726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Find the value of (243)%° + (243)°¢

Options :

1.5

5 10

Question Number : 190 Question Id : 4548934727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If 46° — 447 = 45p, then the value of p' will be :

Options :

i 10

Sub-Section Number: 4
Sub-Section Id: 45489357
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 4548934728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A medical student has to secure 40°% marks to pass. He gets 80 and tails by 60
marks. Find the maximum marks.

Options :
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Question Number : 192 Question Id : 4548934729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Of the three numbers, the first in four times the second and three times the
third. If the average of all the three numbers is 95, then the third number is :
Options :

=

1 e F

2
o

60

Question Number : 193 Question Id : 4548934730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks: 1
Question Label : Multiple Choice Question

- |

The sum of three numbers A, BandCis983. If A:B==—and B:C=—, then B

o | W

'-.tJI |

15 °

Options :

Question Number : 194 Question Id : 4548934731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question

A, B and C enter into partnership with a total of Rs. 8,200. A's capital is
Rs. 1,000 more than B's and Rs. 2,000 less than C's. What is B's share of the
vear's profit of Rs. 2,460 ?

Options :

9
1 420

'_'JI-‘!
> 4235

on
)
-

1l6

Question Number : 195 Question Id : 4548934732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The cost of a black and white TV and a colour TV are in 3 : 8 and total price of
both is Rs. 12,100. The difference in their prices is

Options :
Rs. 6,000

Rs. 6,050

Question Number : 196 Question Id : 4548934733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Fresh fruit contains 72% water and drv fruit contains 20% water. How much
dry fruit from 100 kg of fresh fruit can be obtained ?

Options :

0k
13 -

32kg

7

-l kg
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Question Number : 197 Question Id : 4548934734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If Rs. 8,000 can maintain a familv of 4 persons for 40 davs, tor how long will
Rs. 10,500 maintain a family of 6 persons ?

Options :

L 30 days

35 davs
25 davys

28 days

Question Number : 198 Question Id : 4548934735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

X works twice as fastas Y. It Y can complete a job alone in 12 days, then in how
many days can X and Y together tinish the job ?

Options :

18
1.

o

Question Number : 199 Question Id : 4548934736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A cistern normally takes 4 hours to be filled by a tap but because of a leak, takes
2 hours more. In how manv hours will the leak empty a full cistern ?

Options :

i 10 hrs
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14 hrs
6 hrs

12 his

Question Number : 200 Question Id : 4548934737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Rakesh on selling a lamp for Rs. 450 bears a loss of 20%. To eam a profit of 20%,
he should sell the article for -

Options :

Rs. 675

1:

Rs. 000
%8

Question Number : 201 Question Id : 4548934738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The cost price of 20 pencils is equal to the selling price of 25 pencils. The loss
percent in the transaction 1s

Options :

Question Number : 202 Question Id : 4548934739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
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In how many seconds will a train 105 metres long, running at 51 km/h, cross a
man walking at 3 km/h in opposite direction ?

Options :

1 12 seconds

5 2.75 seconds

3 5 seconds

7 seconds

Question Number : 203 Question Id : 4548934740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

At what rate per cent (simple mnterest) will a sum of money double itself in 16
: ?

vears :

Options :

1,

10%

Question Number : 204 Question Id : 4548934741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : MUltip]E Choice Question

Miti and Aditi can do a piece of work in 45 davs and 40 days respectively. They
began to work together but Miti leaves after 't' days and Aditi finished the rest
of the work in (x + 14) davs. After how many days did Miti leave ?

Options :

Ll‘?i

5 11

collegedunia:

India’s largest Student Review Platform




Question Number : 205 Question Id : 4548934742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A mixture contains milk and water in the ratio 5 : 1. On adding 5 litres of water,
the ratio of milk to water becomes 5 : 2. The quantity of milk in the mixture is
Options :

& N
y 2 litres

15 litres
25 litres

20 litres

Question Number : 206 Question Id : 4548934743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

1 MBis equal to

Options :

) 500 GB

> 1024 Byte

- 1000KB

MK
4 1024 KB

Question Number : 207 Question Id : 4548934744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

GUI stand for :

Options :
1 Great User Interface

5 Geographical User Interface
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3 Graphical User Interface

i None of the three

Question Number : 208 Question Id : 4548934745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Template in Word is saved in ... format.

Options :
Am
g, T

.doc
2.

dot
S

dop

Question Number : 209 Question Id : 4548934746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

DVD stands for -

Options :
{ Digital Video Disc

> Double Video Drive
3 Disk Virtual Drive

None of the three

Question Number : 210 Question Id : 4548934747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The IC chip used in computers is made of -

Options :

1 Chromium

5 Iron oxide
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Silica

Silicon

Sub-Section Number: 5
Sub-Section Id: 45489358
Question Shuffling Allowed : Yes

Question Id : 4548934748 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes

Question Numbers : (211 to 215)
Question Label | Comprehension

The total adults in a city is 60,000. The various sections of them are indicated
below in the diagram

I - emplovees in the public sector

IT — emplovees in the private sector

III — emplovees in the corporate sector
IV — self employved

V — unemploved

Sub questions

Question Number : 211 Question Id : 4548934749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What percentage of the enmploved person is self emploved ?

Options :

D

a—_
19

Question Number : 212 Question Id : 4548934750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
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Question Label : Multiple Choice Question
The number of adults emploved in the corporate sector is :

Options :

1_3_400

19000
27000

0000

Question Number : 213 Question Id : 4548934751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The number of persons emploved in both the public sector and the private
sector is :
Options :

130EIDD

45000
2

3 27000

g
4 16200

Question Number : 214 Question Id : 4548934752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The number of unemploved persons is :
Options :

1800
1:

12000

1200
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Question Number : 215 Question Id : 4548934753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If the total population of the city is 2.5 lakh, the percentage of the total
population that is emploved in private sector is

Options :

Sub-Section Number: 6
Sub-Section Id: 45489359
Question Shuffling Allowed : Yes

Question Number : 216 Question Id : 4548934754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Gelect the word simuilar in meaning to the given word :
stentatious :

Options :
modest

o showy

vivid

4 kind

Question Number : 217 Question Id : 4548934755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word similar in meaning to the given word :

Consecrate :
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Options :
1 l.lﬂ.llDT- '

> deaden

nommnate

pollute
i P

Question Number : 218 Question Id : 4548934756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word similar in meaning to the given word :
Abominable

Options :
{ adnurable

> deceitful

3 beautitul

4 hatetul

Question Number : 219 Question Id : 4548934757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word opposite in meaning to the given word :

Feign :

Options :
talsify
1

justify
2 I o
activate

3.

genemte
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Question Number : 220 Question Id : 4548934758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word opposite in meaning to the given word :

Virile -

Options :

1 effenunate

o thrifty

- sensual

- -?.-'
4.y olatile

Question Number : 221 Question Id : 4548934759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Select the word opposite in meaning to the given word :
Dank -

Options :

1 solid

wet

5 dry

" liquid

Question Number : 222 Question Id : 4548934760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word opposite in meaning to the given word :
Hallucination :

Options :
regimentation

5 cheerfulness
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ravity
3 gl h

i clarity

Question Number : 223 Question Id : 4548934761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the word opposite in meaning to the given word :
Lure
Options :

{ testifv

o repel
3 activate

hearten
4.

Question Number : 224 Question Id : 4548934762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks with correct option :

He . . is down needs ftear no fall.
Options :
1 whose

whom
Sl

3 7 vhich

that
4 tha

Question Number : 225 Question Id : 4548934763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks with correct option :

This is the cityv ... [ was born in.

Options :
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where
1.

which

= that

4 what

Question Number : 226 Question Id : 4548934764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks: 1

Question Label : Multiple Choice Question

Fill in the blanks with correct option :

Thatis ......... impressed me first.

Options :
which

what
who

why

4.

Question Number : 227 Question Id : 4548934765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

[dentify the grammatical categoryv of the underlined word :

[ was mediocre at drill until my senior vear

Options :
noun

4 = .
acqective
adverb

verb

Question Number : 228 Question Id : 4548934766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable : Yes .
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

[dentify the grammatical category of the underlined word :

He is pretty good at Mathematics.

Options :
adjective

adverb
2

s determiner

conjunction

4.

Question Number : 229 Question Id : 4548934767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MLﬂtip]E Choice Question

[dentify the grammatical category of the underlined word :

All the money was spent in buving a house.

Options :
adjective

adverb
2.
determiner

pronoun
4.

Question Number : 230 Question Id : 4548934768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the correct prepositions to fill in the following blanks :

Theyv refused to comply ... the UN. resolution.
Options :

into
1,

at
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of

with

Question Number : 231 Question Id : 4548934769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the correct prepositions to fill in the following blanks :
N.S.5. volunteers are exempted ......... attendance.

Options :
after

of
trom

to

Question Number : 232 Question Id : 4548934770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : MUItip]E Choice Question

Select the correct prepositions to fill in the following blanks :
Gautam Buddha deprived himself ... jovs of life.

Options :
after
1.

ot
trom

with

Question Number : 233 Question Id : 4548934771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the correct prepositions to fill in the following blanks :
He was charged ... ... theft.
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Options :
for

of
by

with

Question Number : 234 Question Id : 4548934772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the correct prepositions to fill in the following blanks
I was informed ............. the latest developments in the case

Options :

1_ut

with
from

4 o

Question Number : 235 Question Id : 4548934773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks with correct words :

Thedataalso.............. that violence agamnst married women has come down.

Options :

show
1.

> shows

3 have shown

4 had shown

Question Number : 236 Question Id : 4548934774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill i the blanks with correct words :

The court ordered a C. B.I. ... into the incident.

Options :
1 hearing

trial
probe

solution

Question Number : 237 Question Id : 4548934775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill i1 the blanks with correct words :

Most of the girls in rural India are married within a vear of attaining .............. ;

Options :
{ puberty

vouth
education

cookin
4. 2

Question Number : 238 Question Id : 4548934776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Fill in the blanks with correct words -

Tax ...........is a major problem in the development of India.
Options :

) exaction

5 liberalisation
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evasion
=

rejection
4 €]

Question Number : 239 Question Id : 4548934777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the option that best expresses the meaning of the following idioms
Stand on vour dignity :
Options :

 fo demand to be treated with the respect that vou think vou deserve

- to lose vour respect

5 tobehave in a dignified manner

4 forcompromise with yvour dignity

Question Number : 240 Question Id : 4548934778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Select the option that best expresses the meaning of the following idioms :
Carrv coals to Newrastle :

Options :
1 tosupply something where it is needed

- fo supply something where it is not needed

3 tomake a place dirty

4 to do hard work
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